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Time allowed for the test: 50 minutes
PR 50 A~ 48

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36

Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok L

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:

Not all diagrams are drawn to scale.

SECTION A (60 marks)
Choose the correct answer. You only need to
write down the letter preceding the selected

answer.

AR
IMAVFRH Ry BEFH o

T 'ﬂ\‘l-
\

tw G

1.2 | 1 | = |isa 3-digit number.

When it is divided by 18, the
remainder 1s 16. Which of the

following is | & |?

A |2
B.| 4
C.| 6
D.| 8

1./2 |1 | %| 8- B=i~#o
T UEI I8 AARH_ 160 T
FeRB E | =9

A |2
B.|4
C.|6
D. |8

2. There are three dozen light bulbs
in a box. Each light bulb costs
$45. If Mr Chan wants to buy 12
boxes of light bulbs, how much
should he pay?

A. §540
B. $1620

C. $6480
D. $19 440

2. - *ElJADr%F ZFT o & ;@;JAD#’E

$45 0 drk L4 B F 12 $4E
oY

A. §540
B. $1620

C. $6480
D. $19 440

BATEH 5 () 4)



3. It takes a total of 24 minutes to 3. 504 %k BHERLE
print 504 flyers. How many 24 g8 o 1R ik R B
minutes will it take to print 378 378 %k BMHE %K B 1L
flyers at the same speed? & 7

A. 21 A.21
B. 19 B. 19
C. 18 C. 18
D. 17 D. 17

4. One of the following numbers 4. N T BT > B - B
has a different number of factors FlE vl & = B#&FF o
than the other three numbers. HRECT G FlEAp A e R AL
What is the result of adding up all 5009
the factors of that number?

9 25 49 55
A. 13 A. 13
B. 31 B. 31
C. 57 C. 57
D. 72 D. 72

BATIEA B B L (] 4) 4



5. The number on the table is a
common multiple of 8 and 12,
and it 1s also a common factor of

48 and 96. Which of the

following numbers may be this

number?

A. 16
B. 36

C. 48
D. 96

5. % &V indhi g 84 12 o
Rl 4 548 4r 96 e
B o 1T VR ECT A Ban R

S ?

A. 16
B. 36

C. 48
D. 96

6. Find the H.C.F. of 56 and &4.

A. 4
B. 14
C.28
D. 168

6. + 56 4- 84 7 H.C.F. -
A. 4
B. 14
C.28
D. 168

7. Which of the following has the

largest value?

A.554+5+0.05

B. 554+5.05+0.05

C.554+0.5+0.55
D.55+5.054+0.5

7. T A UR— JE iE < 7

A.55+54+0.05
B. 55+4+5.05+0.05
C.55+0.5+0.55
D.55+5.0540.5

BATREA R B X (] 4)



8. The tens digit and tenths digit
of a number are ‘9’ and ‘1’
respectively. Which of the
following may be this number?

A.49.214
B.91.222
C. 494.146

D. 494.416

8. - B#ceht mfcfrt & s
WE 9l o 11T WRIE T 5y A
T E?

A.49.214
B. 91.222
C. 494.146
D.494.416

9. If each D’epresents 1,

what is the result of adding up all
the numbers represented by the
shaded parts of the following
figures?

AN =

[

>
ool

oW N |— ~|W

>
[E—
o0 | —

Ol N|— I|W
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10. Anna reloaded her Octopus with
$200 and used it to pay $48.9 for
buying a hamburger. After the
payment, the remaining value in
her Octopus was 161.2. What
was the value in Anna’s Octopus
before it was reloaded?

A. $10.1
B. $38.8
C.$112.3
D. §$151.1

10. & 5~ il + 3 5200 0 1
v 2S489 PR - B3

o i 20ts o 4RFEE5161.2 -
AT e L
£ S0 ?

A. $10.1

B. $38.8

C.$1123

D. $151.1

11. A box of 16 ballpoint pens sells
for $240. The average price of
each ballpoint pen is more
expensive than that of each pencil
by $5. To buy four dozen pencils,
how much should be paid?

A.$720
B. $640
C. $480

D. $360

1. - $§h+54 164 &HA
$2400—E%}‘t}§‘!.§. éiﬁj;li::—’/gqi%:
BF A R S5 §ow 44

S R

A. §720
B. $640
C. $480

D. $360

BATREA R B X (] 4)



P
12. If 5 1s converted into mixed
4
fraction, it is between 2§ and

8
25 . Which of the following is

the possible value of P?
A. 20
B. 22
C.25
D. 27

P . .
12, Fh Gl LA A H A K
4 8
fi I 25 ﬂfr2§

R— BB g AP ehiE Y

2_FF o T 7

A. 20
B. 22
C.25
D. 27

13. The fourth common multiple of
two numbers is 168. Which of the
following groups of numbers
may be these two numbers?

A.21, 84
B. 3,56
C.6,7

D. 4,16

13. & By v B o 3 Hed
168 o 11T wR— 8 B Ay AL
Th BHE?

A.21 - 84
B.3> 56
C.67

D.4- 16

BATREA R B X (] 4)



: 3 1 3
14. Lida has $367 . she has $57, 14. %35 $367,° ¥ 2% 3
|
more than Jena. what is the total $57g° @ A HF A2 Y
amount for both of them?
7 A
A. 8777, A. 877,
1 B. 3675
B. $672 B
2 2
C. $415 C. $415
1 1
D. $313 D.$315
_ Each
Each o
79 $12.50 6& 8860
5 -

15. There are 2 croissants and 1 15. B E N3 22 4541
pineapple bun in a discount BREs > BB 30 4ok ¥
package, the price is $30. If the Tt b frp e o
same number of croissants and PRy ey i

pineapple bun are bought, how
much can be saved by buying the

discount package?
A.$3.6 A.$3.6
B. $3.9 B. $3.9
C.$5.8 C.$5.8
D.$7.8 D. §7.8

BATAEAH © % () 4) 9



16. Jack has 29 $5 and $10 vouchers

altogether. They are worth $190.
If Jack has 11 fewer $10 vouchers
than $5 vouchers, how many $5
vouchers does he have?

A.9

B. 19

C.20

D. 25

16. 2403 $5 o810 chis * % &
2938 5 v P E$190 o 4ok
PEELEIS10 18 K0t 85 (R X
SR RS R CRUE A

e
A9
B. 19
C. 20

D. 25

_

|/

17. Which of the following shapes
can be formed by using all the
above figures?

I. hexagon
II. rectangle
III. rhombus

A.Tand II only
B. I and III only
C. II and III only
D. I, Il and III

17. ® 1 ':'L'r’ﬁ B, ¥ A3 A
T g B1A5 9

I. =3
. & =735

. %25

A £
B. £ % 2 III
C. 734 Iz I
D.I~1 % I

[% 11

BATIEA B B L (] 4)
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18. Annie drew a straight line on a
rectangle paper and 2 trapeziums
were obtained. Which
descriptions in the following must
be correct?

I. There are two right angles in
each of the trapeziums.

II. The perimeter of two
trapeziums were equal.

III. There was an obtuse angle
in each of the trapeziums.

A.Tand II only
B. I and III only
C. II and IIT only
D. 1, II and III

1. & BEHA,e0% R Ap % o

ML & B4 F - B4 4 o
A R I2 1
B. 3 12 I
C. 74 Iz I
D. I~II% I

19. Which of the following
descriptions about isosceles right-
angled triangles is incorrect?

A. A square can be formed by
fitting 2 isosceles right-angled
triangles of the same size.

B. A trapezium can be formed by
fitting 3 isosceles right- angled
triangles of the same size.

C. A triangle can be formed by
fitting 4 isosceles right-angled
triangles of the same size.

D. A parallelogram can be formed
by fitting 5 isosceles right-
angled triangles of the same
size.

19. T 7|vR— :Ev}; Fﬁggﬁﬂg_:g_ £ - %
A éify it Ap e ?

2,

A 3B | ipl BT
£z 25V U - B
J}—%qao

B. ZB=x ]k aEEE
A2 U - B
B2 -

C. e B |FaEEe
- 25 U - B
Z 4350

D. T B+ ]k nE %
A AT UEL - B
i{%ﬂfx l—]jo

AT 5 (] 4)
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20. In the above figure, when Ken 20 PRI 0§ T AN EIARE
arrives at the junction, he will turn R § SN LA
left and walk on. In which 4o R — 2 g h (T 9

direction will he walk then?
A. southeast A &3
B. southwest B. & =
C. northeast C. &
D. northwest D. & #
X X x Park
Bank | Railway Station = Bl
424 Lld ab
X X X
School Kiosk Supermarket
g E Az mH B

21. If the Railway Station is in the 21, 4ok X B LB & B el M
northeast of the Kiosk, what is in R A o e B O
the west of the Railway station? =9

A. Bank A. i
B. Park B. = 7
C. School C. &
D. Supermarket D. %7 ¥

B FTAEAIN B % (] 4)
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S5cm

22. A new figure can be formed by
using the above 4 squares of the
same size together. What is the
shortest perimeter of the new

figure?

A. 20cm
B. 40cm
C. 50cm
D. 100cm

22. % v b AR A ] FRAR I 0D A
B LA - BATPEDS o ATRDS
% BEA S b7

A. 20cm
B. 40cm
C. 50cm
D. 100cm

23. The perimeter of the rectangle is
36cm. If the length is twice the
width, what is the area of the

rectangle?

A. 36cm?
B. 72cm?
C. 162cm?
D. 288cm?

23. & 2 A5e0% J £.360m o 4o % £

BABARGRE » 2B E > A
g fE ALY Y

A. 36cm?
B. 72cm?
C. 162cm?
D. 288cm?

BATIEA B B L (] 4)
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som [ 1L
10cm
28cm |:>
sem [
Figure 1 Figure 2
- B =
24. Figure 2 is formed by fitting the |24, Bl= &.d B]- #7m = B & -
three rectangles shown in Figure A3 Erm & o v R RS
1. What is its perimeter? 9
A. 108cm A. 108cm
B. 114cm B. 114cm
C. 136cm C. 136cm
D. 148cm D. 148cm
h
X
l4cm W
V4
‘rl‘
B 18cm g

25. In the above figure, W, X and Y
are squares. Find the area of Z.
A. 24cm?
B. 32cm?
C. 124cm?
D. 252cm?

25. &t B> W X4eY £.1
Aj o R Z e o
A. 24cm?
B. 32cm?
C. 124cm?
D. 252cm?

BATIEA B B L (] 4)
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34m

3m
o Garden | 20m
3m fe 3m
3m
26. A rectangular garden is in the 26. — B 34m > B 20m enE 3 A
centre of a piece of rectangular 2y By - BRG]
land of length 34m and width do b WA e R R R
20m,as shown above. The H& T3 K §22 i Lo sk N
weeding fee for the garden is $22 2509
per m?. What is the weeding fee
in total?
A. $392 A. $392
B. $6336 B. $6336
C. $8624 C. §8624
D. $9680 D. $9680

B ATAEAH E 5 () 4) 15



'y
6cm I

20cm

27. The above figure is formed by 4
rectangles of the same size and
same shape, what is its area?

A. 40cm?
B. 160cm?
C. 200cm?

D. 240cm?

20cm

27. PRI 4L Aok Ap e en
T“:‘%:]/ E“:a\; > U T-”I”\_]r# %{g
2 ?
A. 40cm?
B. 160cm?
C. 200cm?
D. 240cm?

i
She
—
&
[}

IHESCr 4

16



Number of Rooms Rented in a Hotel in the Past Five Days
RPEiEL T A A Rl

Each /\stands for 1 room
s b as 1 myp

el RARATaRA
PR RARARARARARA:
R EARARA
el RARARARA
R RARARARARARARA:

28. If the rental fee of each room is 28, 4rk E S R X et § O
$150 each day, how much could $150 » iFEiE2 T X 42 5 FF
the hotel get from renting rooms E e I
in the past five days?

A. §750 A. $750

B. $3450 B. $3450
C. $3600 C. $3600
D. $§3750 D. $3750

B FTAEAIN B % (] 4) 17



Number of Vehicles Passing the Toll Station Yesterday
B % i e f o P B falic P

100
90
B~ 80
O
S o 60
kS ﬁ 50
3 40
Na) 3
g 30
2 20
10
0
Lorry Coach Private Car Taxi
b g T L e gL
Types of Vehicles
2 iR
29. How many times of the number | 29. pF % ({5 {7 = h2 w8 i
of coaches is the total number of L dETG P9
vehicles passing the toll station
yesterday?
A.3 A.3
B. 4 B. 4
C.5 C.5
D.6 D.6

BATALANH G L (] 4) 18



Sales of Juice in the Past Five Months
sl S R el i %

900
800
_ 700
§ ;\;{ 600
\% m;; 500
£ oz 400
7 300
1200
100
0
January February = March April May
— 3 - = P 7 i
Month -
TIEES
30. The employee wanted touse the | 30. j& B & &% F Bk £ 783 T
above graph to show the sales of BAEADHEE S B Lk
juice in the past five months. T el Pkt E ot
However, he forgot to indicate the rilfd IR R ReE A
sales of juice in April and May in 300045 » @ & 7 % &gl &
the graph. It is given that the total S IR - : S T S
sales of juice in the past five 5047

months was 3000 cups, and the
sales of juice in May is 3 times
that in April. How many cups of
juice were sold in May?

A. 300 A. 300
B. 600 B. 600
C. 900 C. 900
D. 1200 D. 1200
End of Section A
&R 5E

BATREAIH B 5 (] 4) 19



SECTION B (40 marks) z 3% (40 +)

Working steps must be shown in "$ FEIp P b o B AL R
answering questions in this section HPF o R 5B 3 o

unless specified otherwise.

39¢cm

31. (a) The above figure is made from | 31. (a) * Bld 4 B =~ ] foak4p e
nine rectangles of the same E 3 Ae A o B BE A
size and same shape. What is e R E D 9(R R
the perimeter of each Fx) [2 4]
rectangle? (Give the answer
only) [2 marks]

(b) What is the area of the whole (b) EBEw FLS 9

figure? [4 marks] [4 4]

BATREAH B () 4) 20



32. (a) Mr Lee decided to run for 5

5
hours a week. He ran for ?
1
hours and lg hours in the first

day and the second day
respectively. In the remaining
days, how long did he need to

run at least? [4 marks]

(b) Mr Lee ran for 70km and

95 km last week and this
week respectively. He
consumed 900 kilocalories
of energy for each 15km
running. In these two weeks,
how many kilocalories of
energy did Mr Lee consume
by running in total? [4 marks]

32.(a) 324 L3 - BRrIEBH

SR % Afegk =
5 1
ARSI Jgjﬂil'fr' lgj
PFo AT np 3 0 i f
SRS [44)

(b) 244+ BErIIrizBE

¥ A w5+ 70km fr
95km - s & &+ 15km
W42 900 ++ £ E o A
B BRI ZAAEHE
WHEERE S CFED

[4 4~ ]

i
e

3

L

1425 (] 4)

21



33. (a) Carol had 14 packs of sticks.
There were 64 sticks in each
pack and half of them were
25cm in length. How many
sticks with 25cm in length did
she have? [4 marks]

(b) Carol wanted to use the sticks
with 25c¢m to form a rhombus.
On the answer sheet, complete
this rhombus. [2 marks]

33.(a) 2475 14523
64 s > H ¥ - L E
E B A 25cm e 3 &

(b) TH+ »* 25cm R
Ea- BFEA e AFHA
+oo %G\-}@l]}%’]/

34. Amy used 16 equilateral triangles
of the same size to form the
shapes in Figure 1 and 2.

Figure 1
g] -

(a) If the perimeter of Figure 2
is 24cm shorter than that of
Figure 1, what is the
perimeter of Figure 27

[4 marks]

(b) If the Figure 2 is changed
into a quadrilateral, what
kind of quadrilateral should
be obtained? (Give the
answer only) [2 marks]

34, Fpr 16 B[ k%=
7% LBl 2 Bl- Ak o

VAN
\VAVAVS

Figure 2
Bl =
(@) ok Bl = % KBl o
B Re24em o Bl- hE R
L5 [4 ~]

(b) irkF Bl-xFH - B
;%’1’,?11,5';1%7}@1%%
25 A B NEH)

[2 ~]

BATIEA B B L (] 4)
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35. The daily rent for a booth at the
flea market is $90.

(a) Eric has $285. How many days
can he rent a booth at most?
[4 marks]

(b) The serial numbers of Eric’s
booth was a 2-digit number.
The number was a multiple of

35. pe B BRLCE X i

£.$90 -

(a) 2% $285 o 1 %
ﬁE_:}i,B:l: bx 9 [4 A}]

(b) 2 & g st - B

Bk o RdE_ 14 i
Boo TAoAL 10 B e 7%

14 and divisible by 10. What Briv e g 2 R 2 (R
was the serial number of that BHAE %) [2 4]
booth? (Give the answer only)
[2 marks]
Toy area
b8 - N
X
Snack area
ERE
X
X
Clothing area
MREKE
(¢) According to the above floor (c) ¥zt J"r‘”‘ W i%— T
plan of the flea market, the Bl > PR 8% g 3
clothing area was in the southwest 2 o %zr% s 05 I_,HJQ 8 % A
of the snack area. If Eric wanted FIIRE % 0 B g VR

to go to the toy area from the
snack area, in which direction
should he go? (Give the answer
only) [2 marks]

A2 (FEBNES)

(2~ ]

e

BATRAIH L5 (] 4)
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Sales of Fan
WE(H)

Sales of Fan in an Electronics Store in the Past Six Months
TR B2 B R sl

800
700
600
500
400
300
200

100

February March April May
- A - A - A 7 B

June July
—- A = 7 A = A

Month—
LINEN

. (a) Comparing the sales of fans 36.(a) A b sl E B F
by month, what was the FEE D o b 5D
difference between the WEAPZLZ S 2(FNER
greatest and the smallest sales g %) [2 4~ ]
of fans? (Give the answer
only) [2 marks]

(b) When the difference between (b) &= BFApid ? R 5Heg
the sales of fans in two F4p 4 53200 5 0 P&
months was greater than 200, Tk R PR o
it indicated that there was a 5.t Bl B E A
significant change in R AR P g
temperature. According to the pAE L o [4 4]
above graph, in which two
consecutive months was there
a significant change in the
sales of fans? Explain by
using the data.  [4 marks]

End of Test Paper
R%EE =

BATREAIH B 5 (] 4) 24



